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1. ﬁﬁ 7. \Nh“"“':
. pair is not correctly 1) ARfd W@;ﬂﬂ estabhisiy
.-h of the following P ( £ q’ﬂ'ﬂa --An\bh”"’
1. Whic s 2 ﬂ'ﬁ‘mﬂq i 97 @) Bari
e i Kiratarjuniya N/gﬁ'aﬂ = il (§1) Bhu
aravl - L |
4 Bhd,r.q rand - Panchtantfﬂ ) Ci qf..a‘iﬂ—q W (W I} (iii) Khu
(2) Vat‘byl; }n Prayal Prashasti 4 ) aﬁq‘@ _ (iv) Pra
(3) Harishe -‘ ’ . Abhilekh g e
(4) Vatsabhattt - Ment ta I) (5) ﬁaﬁﬁa i ?_;:ode -
(Kumargupta & o Afzel DT Fqq B 4 Onl
:on not attempted ' ‘\’T‘"ﬂﬁ aTE STPT W » (
0% l::en disciples of Ramananda Who < L ! & W Ty 2 All
2. Name the WO ; ko (3) On
carried away his message from door to door aftef qéﬁr‘"? 3k 939 { (4) Or
5)
his death - (:). tﬁrﬂ?ﬁaﬁq D ( ) Q\;
(1) Padmavati and Sursuri (2) ararct e e 8. i:am
(2) Andal and Janabai : (3) PRSP AR o
(3) Karaikal Ammaiyar and Gangasati @) m 2R ART S
(5) Question not attempted ) 41 FaTEe e 1857 3 i ar
3. Name the Britisher who has called the Revolt of = i ”3[ il_ St wET o &)
1857 as a “National Rising™? I ﬁ_l L] @ﬂ'\' e,
1) T.R. Holmes (2) Sir James Outram (1) T3 BIed T SEA
s feswme  (8) S, TR e
(3) Benjamin Disraeli  (4) W. Tayler (3) aranTfAT TSUIRR - a)
(5) Question not attempted : (5) SrgIRa = @3
4 Who founded the ‘American Philosophical 4 ‘SFR®T W |EES @ wmW (5
- e P 10. W
Society’? : DI A7 |
(1) Patrick Henry (2) Samuel Adams Qﬁﬁﬁm T (2) R W
(3) Benjamin Franklin (4) Thomas Paine yaﬁﬂﬁq Beferd  (4) 2w (;
(%) Question not attempted (5) SR ueH g ‘ (
5. Where was the headless standing statue of - ﬁﬁ@ﬁ%@@f@ Rraa frad qi .
Kanishka found with Kanishkd’s name inscribed - BITH BT AW ?.EJ,ET R Pt UE Eg off?
at the bottom? . ' s
‘ (1) ;liln\_{jﬁ'aﬁtc','[' I 2) arERTad)
(1) Nagarjunakonda ~ (2) Amaravati : 4 A2
(3) Gandhara (4) Mathura : ; {?/W _
(5) Question not attempted (5) 3rqxiRa we e 12

8- Who among the following was not a member of 6. fy=feiRad % & Py B $ B ol

the ‘Cordeliers Club of France’?

BT GG TE or?
 Marat (2) Habert ) e |
o 2 (1) #xre B () 2o |
- Dm"li ™ Robespierre @) S5 1 o :4; %aé ' >
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7. Who among the following were associated to the
establishment of the revolutionary: organisation
:Anushilan Samiti’” in Bengal?

(i) Barindra Kumar Ghosh
(ii) Bhupendra Datta

(iii) Khudiram Bose

(iv) Prafulla Chaki

Select the correct code -
Code -

(1) Only (i), (i1) and (iii)

(2) All (i), (i), (iii) and (iv)
(3) Only (i) and (i)

(4) Only (iii) and (iv)

(5) Question not attempted

8. Sir William Jones has equated Chandragupta
Maurya as which of the following?

(1) Amitrochates
(2) Allitrochades
(3) Agrammes
(4) Sandrocottus
(5) Question not attempted

9. The accountant in the Shivaji’s adrmmstratlon

was called -
(1) Majumdar (2) Surunavis
(3) Panditrao (4) Dabir

(5) Question not attempted rs

0. Which Czar has been called ‘Czar the L1bcrat0r
who reformed the internal system of Russia?
(1) Alexander IT (2) Alexander I

(3) Nicholas I (4) Nicholas II

(5) Question not attempted

- 1. The 'Samiti’ for the Jain Monks IlOli t0 do

violence through food' is called -

(1) Aishna samiti (2) Bhasha Sﬂmltl o,
- (3 Vyutsarg samiti ~ (4) Irya samiti

(5) Question not attempted "-_ "

i .w

: Rz Namc the archaeoleg:st who f{rst )0i ted ‘ :

AAAAA

7. frefufag § @ @4 479
mﬂtr:ﬂ'*q

(1) et (i), (i) a (iii)
(2 (i), (i), Giii) @ (iv)
~(3) waet (i) T (i)
(4) Bad (iii) @ (iv)
- (8) argaiRRa we
8. W Rferaw o= A awwd A B FAGT
forer o W faey fopar?
(1) arfeErEed
- (2) vferiered
(3) Ty
AD AvgiDieH
(5) i<k e
9. frEwmh & gurEd ?IWR B BRI STl
L) SRR (2) g&HIEE
(3) Hf¥awmE @R
() orgefRa W
10. o WY 1 59 &1 iR TRl 3 aR

() sedover I (2) STcleusR 1
@R 1 (@) forerer 11
(5) SrgRel WEH

fn,,:awﬁa%ﬁa;aﬁmm e e A
RiLSES IGIEIR :

wfY FEed ¥ -
_ wwvﬁﬁc.m @) v ERi
b @ g Wl w%wm
1 lﬂ) Wﬁﬂ RS _"m;'auim ¥ ﬁ}s%éﬂ*l" '-J
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13. The book of Gupta period ‘Romaka Siddhanta’
was related to -
(1) Religion (2) Astronomy
(3) Mathematics (4) Technology
(5) Question not attempted

14. The word “Mansab” was derived from which

language?
(1) Hebrew (2) Persian
(3) Urdu (4) Arabic

(3) Question not atfempted

15. In which session of Congress the Quit India
Movement  Resolution passed in
August, 19427
(1) Nagpur Session  (2) Madras Session
(3) Poona Session (4) Bombay Session
(3) Question not attempted

was
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ﬁl@ﬁ‘ﬁﬂ’ﬁiﬁ%ﬁ\

AP i

. W 31(-16!5 @ @_‘_n_a.gm T@[ 20. V-\/hlch a]-m
(1) e | & e
ﬁ (4) aﬁ’iﬁ : 5010' N la
(5) (3) 290 kn
X v gz gafy fed Al qAE (5) Questi
(1) f2q, e 1230 21. The avers

4 Hi NL!)’ el (1) 27%

(3) 47%
(5) ar:ﬁ'-rﬁﬁ LES] ﬁ (5) Quest
15. gty g o, 1942 @ [0 TR 22. The ‘Jig
aﬂs‘r gieYer i T IR G2 theory of
e (2) 7rgTE SAferaer (1) Conv
(3) T eI @) a7 Sy A
(3) Geos

(5) 3+ g

- (5) argeiRa (4) Plate

16. ‘Who among  the following compared the 16. Fr=ififaa % © feds “TH® #E’ B qom (5) Que:
"Salt March” to Napoleon’s March to Paris? YRR @ URY drE W @T of1? i :
(1) Mr. Brailsford . (1) = JeaBIS : i
(2) Chittaranjan Das i ' @ﬁwm (12) s
(3) J.L. Nehru (3%:.,31'@ Jze . i ! :3; 2?1};1

(4) Subhash Chandra Bose @ T 7 dre ' 3

(5) Question not attempted B W TR iy F :;; 2?11
7- The title given by the British Government to ' The i
Mahatma Gandhi which he surrendered dlﬁ'mg QA TE S, 24 The ins
the Non-cooperation Movement was - u SHLGT I
(1) Rai Bahadur (2) Honourable ‘Sir" g
(3) Hind Kesari (4) Kaiser-e-Hind (::) )
- (5) Question not attempted &, 25 (T:er“:

18. In which Upanishad there is a mention Qf the
debate between Yagyavalkya and Garg1 m the
Court of Janak? i

(1) Brihadaranyaka Upanishad &
(2) Ali:areya Upamshaﬂ '

_&ﬁm.m

i )n

R 1) 1a



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

GET IT ON
Google Play

20. Whic
Which among the following is the approximate  20.

linear distg
ance (along a meridian) between

fretifrg & @ @4l 5°

10' 9. ﬂﬁ?@ﬁ
segier & dra (fedl T

5°10' N latitude to 7°50' N lat;
latitude? 39
. (1) 296 k s Rgs g
T & (3) 290 k:: :f; 302 km (1) 296 5 A1 T @
) 288 k ey
(5) Question not attempted km (3) 290 5 41 (4) 288 fap. 1.
21. The average Albedo of : (5) Srgrive o
(1) 27% T Rath g A éfﬁ a1 afted Yfeast € —
. (3) 47% ff; g’éjj 1) 27% )‘3}/3]%
4 Ry (5) Question not attempteq . 23) % 4) 35%
5) s ve

22. The ‘Jig-saw-fit' evi : e
- s 28 1t evidence is related with the 22 AR s for Rl & wafed ®,
1 (1) Convection Current a8 2 -
: Theory - Holmes : - e
(2) Continental Drift Theory - Wegener D waET axT Rigid — B‘Fv’ﬂ
(3) Geosyncline Theory - Kober ;2) wETETg favenus frgia — 9T R
3) Tt Rigid — dEx

% (4) Plate Tectonics - Hess , 8
() Question not attempted (8) wre fRadfie — &w
: ; - (5) srgaRa we
23. ;I;ewlluililest tides in the world occur in - 23. fwq i waq aRE o £ % SR o E —
€diterranean Sea d
(1) e R |
(2) Bay of Bengal . .
2
(3) Hudson Bay :3; T 1@1
(4) Bay of Fundy e
| (5) Questi BT @ @ H
i uestion not attempted 5) e
ﬁ?ﬂ F 24 ';l"lle instrument for measuring relative humidity 24 HTUf&T® MTETT BT AU TG TIDYT & —
‘ 2i);An id b ter (2) An 5T (2
| eroid barometer emometer :
3 g]s;‘ﬁﬁﬁ
{i (3) Hydrometer (4) Hygrometer ( )‘ Wﬁ
(5) Question not attempted (5) STFART =
25. The ‘Nubra Valley’ is situated in - 25. qgr WIEr Rem e —
- (1) Ladakh range (2) Zaskar range q(arera sl | (2) SR Aol |
(3) Shivalik range 4) Karakoram range @) Rraifere 2ofi § () sreNg 2of §
(5) Question not attempted (5) 3r<IRa e
26. The cyclonic rain that occurs in Karnataka 126, fiw g A BeAfed A BN drel wsharc N
during summer is - e
(1) Mawat (2) Kalbaisakhi (1) #rae () T W,
(3) Norwester (4) Cherry Blossoms (3) AR (4) <R AT
; (5) Question not attempted (8) SrgeiiRa W i 4
F 27. Where is the ‘Instrumentation Ltd.” located? 27. F\'{el%ﬁ'ﬁ ferfircs’ el SraRerd &
(1) Alwar (2) Ajmer (1) 3refa¥ (i; ﬁa‘m””
(3) Jaipur (@) Kota NOR ‘

(5) Question not attempted

} 2.8

~ Page 5 of 32
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28. The ‘Israna Hills® are located at - ) i _ IeaR 33. Garh, K
(1) Rajsamand - Udaipur @) EiPT — TIL (1) Ma;
(2) Sikar - Jhunjhunu m W (@) sili
(3) Karauli - Sawai Madhopur ‘@}Eﬁ—ﬁsﬁ i IR (5) Qu
(4) Jalore - Sanchore (4) STl —
(5) Question not attempted (5) quﬁﬁ'ﬁ ¥ e g4 Aspe
29. [dentify the river of Rajasthan on following 29. fopferfad aedll % P ™ SEOTE
facts & ey i @ T (e e
(A) It originates from Haripura Village Hills (A) ?TE" 4 a?ﬁ-rlj; () Je
(Chittorgarh). ¥ Iq7 A | (2) K
(B) It meets Chambal River near (B) dg Tl Tt # RS, (3) ¥
Bhainsroadgarh. Al (4) ]
Code - a’z\?‘ i (5) '
(1) Chakan (2) Mez N acicadl @ ﬁGI
(3) Bamani (4) Gambhiri (3) g+ @) T P
(5) Question not attempted (5) argaiRa 9¥ T ™
30. Which of the following Iron and Steel Plant was 30 fr=ifoiead d & HITd cllE—FEIA HAA S @)
set up in collaboration with Germany? & HEdT S werfoa far w87 5
(1) Rourkela Steel Plant ' V) SRS T HIA 36. «]
(2) Hirapur Steel Plant (2) ERTYR FEUTT I fc
(3) Bokaro Steel Plant ~(3) dIRT TG HIAA R
(:) Bhilai' Steel Plant 7 (4) fAerg sTaTd |IA ; (
(5) Question not attempted (5) srgaRa wed (
31. Which among the following is/are hot winds? ﬁlﬁ]ﬁﬁr ¥y ?ﬁ'ﬂﬁ H EEH'/BT:ITQ Tt
(B) Mistral ] < (B) ﬁw : 87 : (
(C) Chinook : ' EC)/f%FB? 3 ' (
(D) Bora Dy aw " |
Select the correct answer from the code given 9y
below - ' y W?QTT‘?W%‘\H'&‘T SEHW Em T Y — 38.
Code - '
, ? S
(1) (B) and (D) are correct :2: (i) ) ﬁ &
(2) (A) and (C) are correct @) S (.C_) W ¥
(3) (A) and (D) are correct (A) 7RI (D) et &
(4) Only (C) is correct e Waaa () w %
(5) Question not attempted s (5) 3I§E|[Ei[ HF[ . ; S 3
32. Who reco 32. “TEE -
gnized the two major layers of the ﬁﬂi’ q HeRgey 'qs‘[ )
ﬁ*;“h as Crust and Substratum? T ‘ﬂ"ﬁ M il o
Pratt (2) Suess e P
_ Hrw\ N (2) gm
::; g‘)lﬂl?s (4) Daly \@LE\TW:' LN “: (4) %Eﬁ
uegugn not { Tail s MG
b attempted . i ﬁ (5) ﬂﬂﬂﬁﬂ m bsﬂqmm todi Ao
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33. Garh, Kotri and Mangrop are mining areas of - 33 g, ®edl ai FHRY @] o ®
(1 I\?rfgnesite (2) Fire Clay a) 2) B 7ol
3) Slllca-Sand (4) China Clay @) faferaT A< (4) AT
(5) Question not attempted (5) :ﬂﬂﬂﬁﬂ ) £
S e e 9
%"& in Rajasthan? : L frefofem forem e i
) (1) Jaipur, Jhunjhunu, Sikar ST LR o
" Sy (2) Kota, Jhunjhunu, Sikar ((12: :';Eq T
(3) Kota, Jaipur, Jhunjhunu - T2 ik
(4) Jaipur, Sikar, Alwar ((8) Tt Vg, I
(5) Question not attempted ::: %‘\'ﬂ?ﬁ'\’ aeTay
35. ‘Barakar’ is a tributary of - 35. 'RGY TP T’aﬂ’cﬁ o —
e :;: i);:hnodar R'm?r (2) Yamuna River (1) SRR &1 & (2) 7T DI
ananda River (4) Satluj River @) qERT T A (8) Haerst Adl B
(5) Question not attempted \8): IaRa
36. “Tropical-wet evergreen forests”, are mostly 36. "IUIBICaHI—3Ts HeleER 7, ARG #
found in which part of India? 3 3 frw W ¥ e T Gﬁﬁ 2
(1) North-West (2) South-East (1) ITR—uf¥=H \ (@) feérr- tgci
| (3) Central Part ~  (4) North-East - (3) 7= HET (4) STR—gd
(5) Question not attempted (5) raiRa e
37. Which of the following is a cold current? 37. faefaRad ¥ ¥ BN U SURT 87
(1) Florida (2) Kuroshio (1) gt (2 TR
(3) Guinea @ California - @ firr (). BfeTmifTan
(5) Question not attempted (5) aiRd U
ud 38. Which of the following is an example of Shield . 38- frafeRaa # | S Qﬂlﬂﬂw
Volcano? U SEE R
(1) Mt. Fuji (2) Hawaiian Islands (1) HISvE Holl () & S
(3) Mt. St. Helena (4) Vesuvius 3)yweve ¥ o (4) Rgfes
(5) Question not attempted l (5) SR 9T
39. Which of the following indicators is not included 39. for § @ for Abd® 1 Wil @ AP o
3 in the construction of Physical Quality of Life EBiD D fopafor # wfPAferd 8} fpan T &7
Index? ) ﬁﬁlﬂ = \(E),r,‘h'a:[ kil
(1) Infant mortality rate (2) Life expectancy ' (3) TR el (@) v @ dr

(3) Basic literac (4) Per capita income
: i # (5) argaRd ¥¥F
(5) Question not attempted

22.& ' Page 7 of 32
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40. Consider the following statements regarding 0 A, g I 2006 # E2 el |EGP e 4%

MGNREGA - ﬁ/ﬁﬁ‘ oed, NREP SR BL e '(31
A. It was started in 2006. Fv fear T |

B. Under it, NREP and RLEGP were merged. T et faed T — (
Choose the correct option - ' . :; 1y G L TA] =

(1) Only A is correct 2} Ted &

(2) Both A and B are incorrect s 2

(3) Only B is correct @ et B i

(4) Both A and B are correct A o B &

(5) Question not attempted - (8) argeRa w¥ - aﬁ IR T

41. Mach List-T with List-II and select the correct ~ 41- ¥di—1 @I ifﬁ‘I—;—qqﬂTr F3 §Y Tl SR g e
answer by using the code given below the lists - fedr g¢ '356 G
List - 1 Rk A £2

(A) Arithmetic Mean ' - Qﬁ el

(B) Median : | e (A) AR

(C) Mode 1w 0 A (B) AT

Llst ]I ; 4 Lo A \ - v 9
(1) It divides the distribution mto tw »
parts. s i i 1 IS @

(i1) It is a stable measure of Ccntral Tend
(m) It is the best répresentatlve val
series.

Code -

AT S

I ;.‘c-__‘i'%-i:
TR ol
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43. Which of the following statements is true for

43.

GET IT ON
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Ny Disposable Income? bE iy s g
(1) Di.sposab‘le Income is the difference between () wrd e o Fron o 1A e i
Private Income and Indirect Taxes. T = aﬂ}[
(2) Disposable Income is the difference ; 1 L STHIN B T e gcuél
s oetycell (@) @ e o dafds S
Personal Income and Direct Taxes. & &r" @1 3R o
(3) Disposable Income is the differe g o el st o gl el
: ifference between ‘(/’.‘r) W+ dy ey s S 3R
Private Income and Direct Taxes. ETI‘ b wrd & £ .
(4) Disposable Income is the differenc Lt A il el
Personal I a1 ifference between (@) e airey e A 3 AR CER
sonal Income and Indirect Taxes. g .
(5) Question not attempted —h 4 1 AR E
iy ; (8) argaRRa ueH
5 44. 1f too much money is chasing too few goods, the aa. wfy ama aifrs Hal 98 ¥ AT G| ?;1
resulting inflation is known as - FE 2 o gEe  aRomrEEsd e
(1) Stagflation Haehifd weerdl & —
(2) Demand-pull inflation ‘%@’mﬁmﬂ
(3) Cost-push inflation i;)qm AR FERHI
(4) None of the above T g
(4) SuRlad | ¥ BE AL
(5) Question not attempted (5) orgaRa ysd
i 45. Suppose the primary deposit of banks 710,000 45 W <R 5 S @ weifie s
and the cash reserve ratio of Central Bank is 10,000 X v g §% &1 AP RfEr
10%. statutory liquidity ratio is 25% and the ST 10% 2 Juifie avea aguE 25% 2
unutilised ratio of deposits with banks is 5%, i dt @ U S AR w1 g I
then the total deposits will be - 5% %‘,jﬁ el oreT At B —
() 230,000 (2) T 20,000 (1) 30,000% (2) 20,0003
(3) Z 15,000 (4) Z 25,000 (3) 15,000% (#) 25,000
(5) Question not attempted (8) aﬂﬂﬁﬂ e
46. Consider the following statements — 46. 4w 'cfﬂFﬁ R foaR R - !
(A). Change in demand means a movement (A). AT ¥ yRade & 3 B "G P
along a given demand curve for a q .qﬁa-d:{ 3 gRoERaHy fag MY AT 9D
M ~ commodity as a result of change in its price. R faeRe A g}
(B). Change in quantity demanded is a shift in (B). HifY ER IR e e T @ wrg;;
 the entire demand curve of a commodity Hr o W fRade %.. o zzrfaﬂ_
. B resulting from the change in . the Afed ama A SR A A A
individual’s money income or tastes Of vt Rads & TRV 2h © \
q prices of other commodities. on oS e iﬁ f
Choose the correct option - 2 (1) dadt (B) R
(1) Only (B) is correct ] @) (A) AR (B)@‘-,ﬁ W 3
. (2) B.oth (A) and (B) are incorrect (@) D (A) o
2 GREATS @ (&) a @) A 8
rrec
Both (A) and (B) are co (S)aﬁﬂﬁﬂw

(5) Question not attempted

E b0

Page 9 of 32
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47. Which of the following statements are correct

about Keynesian Consumption Function? Select

correct answer using code given below -
(i) Monetary consumption is a stable function
of monetary income.
(i) Marginal Propensity to Consume (MPC) is
positive and less thap one.
(iii) Long run MPC is more than short run MPC.
(iv) APC falls as income increases and MPC is
less than APC. i
Code -

(1) (), (i), (iii) and (iv) are correct
(2) Only (ii), (iii) and (iv) are correct
(3) Only (i) and (ii) are c.orrect _
4) Only (i), Gi) & (iii) are correct
(5) Question nét attempted |

GET IT ON
Google Play

ﬁﬁﬂﬁg?:ﬁ% aﬁezmwmm?i..":*ﬂ-H"Goverm
gwwgﬁq J W commodit
() A I Ry ﬁQT\‘ (1) Suppl
gl g i the lef

(i) ST 1 i TgfT (N[PC)% 2 Supp.l
o (3):::;3
(iii) AeRpTellT MPC, STeTIetT MPC-@,% b
gl &1 e ' (4) Den
(1v) 9 @@ WY APC EEl & T M, the 1
P B 2 (5) Que
e 51. Which
regardi

- (1) The

2re

(2) Th

th

(3 T
to
@T

th
LG
52. In wl
defic
(1) §
1
ke
EY
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L 2 50. If Govern : . 2,
) Cmnm()dit;“?;[,,ltr:::sies an excise duty on the 50. ;ﬁ WHR X’ q&] W SAE geP )
1 ;
% ( )tShl;Plpelf):.curve of commodity ‘X’ will shift to () axg X’ F q\fé g & aX® mﬁﬁ &l
(2) Supply curve of commodity ‘X’ will shift ¢ il fafad 8l
ey the right. et L B e o off @ R A
(3) No change in demand and supply, curves of 3) ‘x° -q%‘q“"m q “lﬁ @t § B gf¥ad- el
ﬁfm; the ‘X’. BT |
' 4) Dem.and curve of commodity ‘X’ will shift to (@) IR X’ 7 w1 G QiR N faafd 2l
P 2 ge ng.ht. SR |
uestion not attempted (5) Qﬂﬁﬁﬁ [T
51. Which one of the following statements is correct  21- QU e @& Hag § e § 9 Eamkil
regarding the Consumer Equilibrium? DA el 57
(1) The consumer’s valuation of the goods is Eﬂi (1) Hﬁaﬁ @ fau Swigm @ P
greater than the market valuation. : TR—Hed - ¥ 3ifere Bid 21
(2) The slope of the indifference curve is less (2) TR 9 &1 T, aoie &1 & ol | PH
than the slope of the budget line. | : BT B |
(3) The slope of the indifference curve is equal (3) Aeedl 9 B I, I9E @ B A D
' to the slope of the budget line. ERIER B € |
bl (8) The slope of the indifference curve is greater (4) TCRITT 9F BT oI, aWic Y@l B ol |
than the slope of the budget line. : _ 31y B 2 |
(5) Question not attempted ' 5 (8) ariRa e
52 I which of the following situation the primary 52. fope 3 ¥ frw TRRUR § TOR & 9 F
| deficit of Government Budget tends to be zero? UIIHe ETeT IR BNIY
(1) When fiscal deficit is equal to interest (1) Gfg [T HTCT TS T B W
payment g . (2) /9 g N A I E
(2) When the net interes.t payment is zero P ———— 3
(3) When revenue def'lc:lt tends to be zero o St T 7
(4) When fiscal deficit is zero
2 | (5) Question not attempted L2 ST SN
53. Choose the correct option that shows — 53. g 3§ 9§ 99 Hel ﬁﬁq 'cfﬂ = P, S
(a) Number of Sustainable Development Goals, (a) A ﬁmaaff CARUC
(b) Year of its declaration and (b) TP o b S
(c) Year of target-achievement (¢) -t a
respectively from the following - 1w g

(1) 17,2015 and 2030 (2) 15, 2000 and 2015 (1) 17,2015313 2030 @) 15,2000 AR 2015
(3) 20,2020 and 2030 (4) 7, 2000 and 2015 (3) 20, 2020 3R 2030 (&) 7,2000 AR 2015

:— A ) Question not attempted (8) IR W
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54. As one moves upward from right to left along @
negative sloped straight line demand curve, the
value of price elasticity of demand -

(1) remains constant.

(2) decreases.

(3) increases.

(4) first increases, then decreases.
(5) Question not attempted

55. Consider the following regarding CrOSSlﬂré
Elasticity of Demand (exy) - '
(A). Ifx and y are substitutes, then exy is
negative. ; Hh

(B). If x and y are complements, then exy is
positive. l _
(C). Ifxandy are not related, then exy =0.
Choose the correct option - .
(1) All (A), (B) and (C) are correct
(2) Only (A) is correct
(3) Only (B) is correct
(4) Only (C) is correct
(5) Question not attempted

56. What will be the valu

Mean 310?
(1320
(3) 200 FILPE i

money supply
(1 -.,_" It 5 _E ]

GET IT ON
Google Play

m "I T3
—— # v .

?ﬁ@aﬁwﬁaﬁ"wmmmwm%
| the

Frd drd — n
(1) fere el B | e
@) ucdl & ar
(3) aa?’ﬂ gl (I
(@) TEar &l &, fope el 2 (C:]
(5) srgaRa T : '
ﬁnaﬁm@ﬁm(exy)ﬁmﬁﬁrw (;

PR —
1(?:;? af2 x iR y RIFAE &, Tl exy FTepy (@
aﬁ’f%l ‘...__-‘:,._-,-4-~ ey = !
@ SERGEER I ETT M o
) i rist il la L‘Hl 2 3 ' )
E&usﬂ b 900 (i 0 k.
o I . 3 gﬂ‘."x it I {3 y :
| 3 w ﬂl‘.!l'i-) {
ty 2 '_‘.! TR

3 Ea

T 6.
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L
¥ 5 Which of the following subjects are included in  59. : e @®
the State List of the Constitution of India? ?‘_?q%%ﬁ ﬁ W B fasd AR &
(I) Insurance “; ;i;‘ﬂ 7 wftafera 87

[I) Capitation taxes
(an Cap Ty nivei e

(111) Fisheries - _ (111 Arfemrahy
(IV) Economic and So'ma] Planning (V) anffe alw wrafors arerr
Choose the correct option - E faden w1 awe AR —
(1) Only (ID), (1) and (IV) () ®a (), (111 3 (1V)
) (1), (D), (1) and (IV) L2y (1), (amy, (1) s (1v)
(3) Only (11) and (IIT) (3) ebaret (11) a2 (1)
% (4) Only () and (1) e 4 e (1) 3R (11)

= (8) o uw
; 'ﬁﬁm@m@mmwﬁq@mﬁ

(5) Question not attempted

60. Which of the following countries are not

included in “BCIM Economic Corridor’? A PRy 2o aftafe T o
i () Bhutan o q & pcE=

(1) China : (I

(IIT) Maldives (1) #Arerdid

(IV) Bangladesh (IV) Fiveae

Choose the correct option - Hel fadeu g —

(1) Only (I) and (11D (2) Only (11) and (IIT) (1) dat (1) 3R () (2) e (D) 3= (10

(3) Only (T11) and (IV) (4) Only () and (ID) (38) Baer (1) AR AV) ¥ Faet (1) 3R (1)

(5) Question not attempted (5) =R e
aq | 61. Consider the following steps of Scientific 61 CEURCARES] o wfmm & Fied RN

l} Theory Building Process - R faER ﬁﬁ?ﬂ —

(iy Hypotheses () Wmﬁ
(i) Classification of data (i) @t BT TR
(iii) Verification | (i) AT

(iv) Generalisation (iv) FETAIDRT

T Arrange the above steps in correct order - Rl 1 w& HH A wafe BT —
(1) (iv), (iii), (ii), (1) (2) (), (i1), (i1d), (iv) () (iv), (i), (i), (1) \/,(;) (i), (i), (i) (iv)
@) Giv), (i), Gii), @) @ @, Gid), (@), (V) (@) (i), (i), @i, @ (A0 @D, (i), @)
(5) Question not attempted (5) TR o

62. m?azﬁﬁﬁmfﬁm—\r{(mmnﬁagﬂﬂ,

62. According to Part-V  Chapter 1 of: the : :
Constitution of India, which of the following is il : § freifed | ¥
not included in the Executive of the Union? wfreferd TE &
(1) Attorney General W‘ﬁ '
(2) Comptroller and Auditor General ' (2) fora® 3R FETeTE®
(3) President ()
(8) Council of Ministers (@ RS
' (5) Question not attempted (5) argeifel
e L
) '22 -® Page 13 of 32
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: |
ing statements regarding 63. ‘fag AIY
[EEL HIRTT —
g7 foms AR & & o

63. Consider the followin
‘Mission SAGAR’ -

g by India in 2020 to enhance (A) 3-{:{ e g

e wgad a4 S Q@ B forg g, @

(A) It was launched
Exercises with the Indian

Joint Military
Ocean region countries. 3 gH fopar I1dm T | ; |
(B) It is consonance with the India’s vision oﬁ B) 7E A & W o5 i 3 B
‘Security and Growth for All in the Region’ e f ( ) & 8 ,
(SAGAR). ﬁmﬂml gf?r{‘l < I®
Choose correct option - el
(1) Only statement (A) is correct (1) daer U (A) FEl 2
(2) Only statement (B) is correct ' (2) Bact HU (B) Tl 2 (
(3) Both the statements (A) and (B) are correct ‘9), 3'7947‘[ (A) 3R (B) E’F-ﬁ T g

(4) Both the statements (A) and (B) are not (4) B (A) 311'\7 (B) < a8l T8l g 1

correct Flﬁﬂ
~ (5) Question not attempted : : eL b
64. Who among the following scholars‘ 64, ferferRRad ﬁﬁ'l"‘ﬁ ﬁ ?}f fa’_\':'ef A 3ﬁi
considered  liberty  and equa.hty \
‘Complementary Principles’? /
() R.H. Tawney
(@) FA.Hayek
(I) C.B. Macpherson
(IV) A.D. Tocqueville
Choose the con'ect option -
_3 (1) Only (0, (1) |
‘ ~ (2) Only (1), (II) 2
(3) Only (1) anc
(4) Only(l)and(IIl)amemrect
(5_) Question not attemptec “b . Fl“

e
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b o ich of the following statement is not correct  67. : i
| 5 ::arding Political Theiryﬂdeas? :ﬁﬁ;ﬁ R,/ e & st T ;
3 e : PV iy it 22
20 (1) The classical pol.mcal thought is concerned ) Yoty W e
with the questions such as the good . faR 3o
?’l‘q community, the obligation of citizenship. RS & a1fireg oRy ggAt o wafered 21
(2) Medieval political thought was wrapped up \Q‘W@H e AR afge Sra |
with the dominance of Christian Theology in HE e @ e Sbsiea Ly
intellectual life. @) I Bt a3 e Rigid TP —
3 Pol-iti:;a: Tr::)ry uIJ t(t) m;(ir n;cluing modern (é_‘F@EﬂEI) ey
riod has been a textual tradition. _
(4 l(:‘3‘:0111emp0rary Political Theory has been o v Rigia 1970 & < A
influenced by the ‘foundationalist turn’ in o gt # wesIfiee #Y 4
i 1970s in Political Theory. SIS g3 % |
(5) Question not attempted (5) SrgeIRe we
" 8. According to Almond and Powell, which of the 68. aTvS iR W b IgE ST d
; following are the outputs of a Political System? B o Een & i 82
| (I) Regulative outputs M fafams freia
(I1) Cumulative outputs (1) Gl
, (1D Distributive outputs (111 faeRen et
(IV) Symbolic outputs (IV) ydierera fAtd
Choose the correct option - ‘ w8 o g —
(1) Only (II), (III) and (IV) (1) daa (1), (1) 3R AV)
(2) Only (I), (ITT) and (IV) - . (2) et (1), (11D AR (V)
@ | (3 Only (D), (D) and (III) @ e (), AR
(4) (1), (ID), (1) and (IV) @ (1), ), (I IR AV)
(5) Question not attempted (5) SFEIRT T
69. Who among the following is author of the book 69. fofeTiad F§ ¥ B Hfacfn s wisH
ﬁfﬁ ' ‘Capitalism and Freedom’? R 3 aEd Bf '
(1) Isaiah Berlin (2) Milton Friedman (1) ZETTE afei \ (2 e Hsa
(3) J. Macpherson (4) R.H. Tawney @ N (4) IR T, N
(5) Question not attempted (5) s T
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70. From which of the following Amendm

Constitution of India. the words

Disturbance” have been subtracted
Article 352(1)?
(1) 44™ Amendment Act
(2) 46™ Amendment Act
(3) 42™ Amendment Act
(4) 39" Amendment Act
(5) Question not attempted
71. In \Nhlth of the following year, United Nations
has adopted the ‘Millennium Development
Goals (MDGs)’?
(1) 2015 (2) 2020
(3) 2001 (4) 2000
(5) Question not attempted
72. Match the List-I with List-II —
List-1
(Commiittees of Constituent Assembly)
Union Power Committee

(I) Committee on Fundamenta] Rights and
Minorities

(IIT) Order of Business Committee
(IV) Drafting Committee
List-II 8
(Chairmen of the Committee)
(a) B.R. Ambedkar
(b) J.L. Nehru
(¢) K.M. Munshj
(d) Vallabhbhai Pate]
Code -

(1) I(p), H-(c), II-(g), IV-(a)

ents of the
“Internal

from

(8 Wﬂﬁﬁﬂ we

GET IT ON
Google Play

e H fag o, P
| 2D

ﬁﬂmﬁﬁﬂm$ s
7% # 9 “A=Re L

@ gl FIDT 352(D ity 73. Conside
greg Beldl al &7 Procedu
(s e e M Th
(2) A6dl e aiferfa? i ::
(3) 42ai T rferferaH ( -
gliper) gl s Choose
® e (1) Onl
71-ﬁﬂfﬁﬁfﬁﬁﬁ7ﬂﬂﬁ."¥fg‘cﬁ%’ 2) On
foaferas Fgeaiie e’ U’ 3) Bo
(1) 2015 (2) 2020 (4) Bo
(3) 2001 (4 2000 (5) Qu
(5) ar<iRa ¥e 74. Consi
Secur
72. -1 1 A G-I E ST — o
-1 | |
(Hfaer w1 9 |t J
(D w" e |ffa
D) &R Haem iy | |
(V) g6y iy — an
o
% ) Choc
(@) 9IR. sFyEHy o
o HT 9o @) ¢
4 i tﬁ_\a (4)
e —
(5)
(1) I(b), II-(¢), I-(d), 1v- @ ‘ Fati
VELED), 1), 11(g), 1v-n) Fre
(3) I—(d) H,_(‘b) HI- (c) IV_(a) )
3

22.¢
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73. Consider the following statements about 73. yffparcis & ar i Wﬁq‘f@’ r

Procedural Jllstlf:e - R R — Wﬂr& & Zﬂﬁ

() The notion of Procedural Justice (1) afare = £ g
corresponds to the philosophy of Socialism. \/$ ey i ﬁ’ﬂ"ﬂ ;ﬁ[ CIGK

(1) Tt treats the rules of Market Economy as the (1) g8 duii apefezra<ell @ 3 qﬁﬁﬂ 2l
model rules of human behaviour. FAER D anadt forert o O {4

Choose the correct option - E;;; e fame —gﬁ—a s

(1) Only statement (1) is correct N (\‘9/$ﬂ'ﬂ aporet (1) T8 ©

(2) Only statement (I1) is correct (2) @ae w2 (1) wa B

(3) Both the statements (1) and (11) are correct (3) e (1) 3% (1) &1 wé €

(4) Both the statements (1) and (II) are not correct (8) w21 (I) S IEd (]l)a‘rvﬁ wE e #

(5) Question not attempted (5) aruiRa Wl

74. Consider the following statements regarding the 74. wgaa o g aReq A i

Security Council of United Nations - frefafea dEl W foram TN —

(1) The decisions of the Security Council on @ ufEear wrges A aY G aRee @
procedural matters shall be made by an Profar Y il B APRIED g o g
affirmative vote of nine _mcmbers, ] o e <o
including the concurring vote of the five ' Gnqﬁ fores e IR
Permanent Members of the Security el @ geata wd W gferferd 2t |
Council. ; () 3= | At Oy, ﬁ'\’&ﬂ ufRyg & AT

(I) On all other matters, the decisions of the & et D THRID T 3 Fore STE |
Security Council shall be made by an £ e R
affirmative vote of nine members. ' _

Choose the correct option - ) Hord () v (ﬂ)a’rri'i & e

(1) Both the statements (I) and (11) are not correct (2) werE (1) vd (ID) 2T |8 &

(2) Both the statements (1) and (II) are correct (3) et HF (1) T 3

(3) Only statement (11) is correct @) daa woE ()T 2
(4) Only statement (1) is correct
(5) Question not attempted R Ly
75. 1y which of the following year India-Sri Lanka 75. wRe— et A @R wEe e H

Free Trade Agreement came into force?
(1) 2000 (2) 1998°

(3) 2009 (4) 2005

(5) Question not attempted -

- (1) 2000

3 fare af an] ger?
(2) 1998

(3) 2009 (4) 2005

(5) IR T
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t
h List-1I and select the C(.)]TEC
e t and Amendment 1n the
en below -

; tch List-I WI

i .Mfwerregardmg the Ac il

g:);lstirution by using the code £
List-1
(Act) '

(A) Constitution (Ninety-t
Act

(B) Const
Consi inety-fifth Amendment)

(C) Constitution (Ninety-1

Act

hird Amendment)

itution (Ninety-fourth Amendment)

Act
List-11
(Amendment)
(i) Amendment in Article 334
(i) Amendment in Eighth Schedule
(iii) Amendment in Article 164
(iv) Insertion of Clause (5) in Article 15
Code -
(1) (A)-(ii), (B)-(ii), (C)-(iv), (D)-(i)
(2) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(3) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)
(4) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)
(5) Question not attempted
77. Who stated that “religion is so universal, 77
permanent and pervasive in human society that
We cannot understand society without clearly
understanding religion”?

(1) AR. Radcliffe (2) K. Davis
Brown

(3) E.B. Tylor (4) B. Malinowski
(5) Question not attempted

78. Out of the following which concept refers to the 78.

critical eye on the world, which observes every
social phenomenon in 3 |
() Social Research

2 .

( )iS{x:l-a] Theory

(3)§oclal Survey

arger social context?

GET IT ON
Google Play

]f;al-‘-i th ’ﬁ-ﬂ' b
76. -1 @ qA-1 ¢

mwﬁammﬂﬁ?ﬁgﬂ‘@rw?

g1
(i)

(A) T (RRradr ) S
(B) dfaEr (@Rraar W) Sty
(C) e (Rreradt weire) s
(D) wferm (Baradl T sifify

a1

(wieier)
(i) ergEST 334 ¥ HeEH
(ii) arredr aﬂiﬂ\iﬁ H e
(iii) 3T 164 F HUEHA

(iv) IFDT 15 § TS (5) BT 3T WG

7 —
(1) (A)-(ii), (B)~(i), (C)-(iv), (D)-(i)
(2) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(@) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)
(4) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)
(5) Srg<IRa ye=

0

| 79. We can |
subject b
H.M. Joht
not one of
(1) Theort
(3) Ethica
(5) Quest

80. Who has
levels —t

(1) M.N.

(3) Narm
Prasa

(5) Ques

81. In the P
Purusha:

(1) Mok

(3) Kam

(5) Ques

82. Qut of 1
source
(1) Inve
(3) Disc
(5) Que:

TE (BT Dot & o A T A e g o N

human 1
mﬂ%,wﬁ‘rqﬁw%ﬁmﬁaﬁw (1) GH
9 H T R 8 wHe @y a8 e (3) Aug
g7 ' (5) Que
() TR ¥efes s1em (23, frw 8- Who
@) €41, ereR (@) &), mferaw fipeee
(5) ' - M) Yo

SR 5127 ©G) M.
ﬁfﬂ%ﬁaaﬁ%ﬁﬂiﬁ'awgﬁmm (5) Qu
T BT TG el & Rred w47 s, Supp

éET!“ "I\‘rr[ﬁ'r:lai T VS U e weH busin
' ! custol
() ISt Qﬂa union
is cal

(1) St

3) R

(5) Q

22. &
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79. We. can know that sociology is a scientific
subject based on the four points given by

by @.w.mmﬁqwﬂwﬁgﬁfﬁw
wwmmg%www

H.M. Johnson. Which of the followi T i
gL i ollowing point is fawar 8| FrfoRaa # & @ @49 SEul
(1) Thejoretical (2) Cumulative oStz 7‘@3? _
(3) Ethical (4) Empirical (1) frgiqas (2) d=lt
(5) Question not attempted (3) Afcven @W%
(5) argaiRel we
80. y
?:il;shil; ?::tillysed.the functions of caste at two  80. I @ Bt B et AT W — HiEPIRP 3R
and ideology? . &
oo JaRe o Rzafda f&a g
(1) M.N. Srinivas (2) R K. Mukherjee ; i 2
(3) Narmadeshwar (4) D.N. Majumdar VAT, AT (2) Iz, BE
Prasad (3) HaTaR vETE (4) S1gA, AR
(5) Question not attempted ' (5) argRT ue

81. In the PUI'IJSI_'lartha System of Hinduism, which 8- &< ] @Y gouTrl el #, fpd ‘1@“’5 ‘Cﬁ
Purushartha is considered as the ultimate goally afqH e | AT 87

L
-

(1) Moksha (2) Dharma "r‘:-',: W (2) g
(3) Kama (4) Artha @) B N (8) 3]
(5) Question not attempted - (5) IR U
82. Out of the following which is not an important 82. fy=fafaa § | BT wrEfe R @1
source of social change? Heaqel W el 87
(1) Invention (2) Diffusion (1) snfasHR (2) TER
(3) Discovery (4) Integration (3) @t 8 THTHRTT
(5) Question not attempted (6) argaRa I
83. Who has said ‘Primary groups are the nursery of 83 UrRiffd WE A ¥&Hd & e () T
human nature’? : 72 fHas Fer 87 _
(1) GH.Mead (2 C.H. Cooley (1) shoa. 9 \ @i ol
(3) Auguste Comte  (4) Emile Durkheim (3) aifTee BT (8) oftie g
(5) Qﬁestion not attempted (5) a—jﬁﬁa uo b 4
84 Who believed that social classes are a o4 T8 fram AT & f6 amis Tt Sirenfis "\
characteristic feature of industrial societies? gt © ?ﬂﬁ%ﬁ? It | g? ‘
(1) Yogesh Atal (2) S.F. Nadel (1) arTer e (2) THUS. TS
(3) M.S.A. Rao (4) T.B. Bottomore - @) ToET W@ @A AR
(5) Question not attempted (5) arRa WE

85. mw,@mﬁ,ﬁm@m$ﬁﬁ
& e i T & | A § HaE HAER

85. Suppose, there is a businessman, being a
businessman he comes in contact with
customers, agents, income tax officers and trade

unions. The role pattern in dealing with all these, e H o @ T A e B, 9%
is called ........... LA : e s el € |

(1) Status sequence  (2) Role conflict (W uRerfd sEe (2) vifevenn e

(3) Role set (4) Status set (3) gfrpT WA (8 gRerfer i =

(5) Question not attempted (5) IR U
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. c written by Herbert ™ g, _

A of the book written . i > v, Ve, St

i m;in‘nl:nii the first work of sociological e fofeaged TP SUARIEIE] : [?or?]nan w

~ Spencer which It o = W |

: Fjlh’-"is? A 2) yefiAed 3P SRS with a m
anal) : (2 o

(1) The Principles of Sociology 3) ¢ $vsgP aifts ARrETEr purpose of

(2) Elements of Sociology ()% M (1) Tali sa

(3) A Handbook of Sociology (4) wfRreoT (3) Incest

(4) Sociology (5) mﬂﬁﬁﬁ

(5) Question not attempted

(5) Questi
e § @ frw aoTETER

. iologistsf &% 0 %:93-Whohass
87. Who among the following §0c10 ogis 'F:'r 4 = .

considered sociology as a science thai}!; e AN qHY a0y g

s ,  communa
? ' ist
systematically studies and explain overall RTR?JT Ve dTell ﬁﬁm(ﬂ W :::;tg;t{l‘sh
perspective of society? (1) Tet.q. ar - : (3) Ram /
(1) L.F. Ward (2) P. Gisbert (3) To.Secy, 3HTSH (9 Togm. ity (5) Quest
(3) H.W. Odum (4) F.H. Giddings &aﬁaﬁﬁ g 94. Which of
. (5) Ques.non not attempted et 7 7 T & arg e T Singh is
- Who is the author of the 00 S 5 System?
“Ending Corruption: How to Clean Up India”? & oD DI o i
(1) S. Kohli (@ N. Vittal ()T B (2) 7. faeey o
(3) K.S. Mathur @WPC Choudhary @) BTH AR (@ G e 5) Quest
(5) Question not attempted : (5) IR v 95. Which ¢
89. Who defined society as a system of usages and 89 fhgs AT BHI trﬁ‘:qm“[ <d §U BT & & w; measures
procedures, of authority and mutual aid, of many @14 yvnferat ud %’Iﬁ SfERTT U9 vy reducing
groupings and divisions, of controls of human HERICT, 3 Rl Ug Ay qopy A9 @@ (1) Distri
behaviour and of liberties? & =t vd Yadrrei @ arawer & (2) Flow
(1) John F. Cuber (2) M. Ginsberg (1) ST v, Fgae (@) v frgest (3) Land-
(3) FH. Giddings (4) Maclver and Page O wnrg iy @W‘\' 79 U9 (4) Creat
(5) Question not attempted : () sraRa gog 1 (3) Quest

90. Tn structural terms, who has

: : : . 96. |
explained castes as  90. e 3 9, fhe st &y AR ﬁfm(;ungb{
“hereditarily  specialised and hierarchic

ally mﬁﬁmmﬁvqﬁﬁmﬁmm%mﬁw supporte
arranged groups”, while as a System, he has ' '

w%mﬁm%wﬁswm@ )
referred to its three characteristics: hierarchy, SRR B T fIyaret a1 v (;) e
hereditary specialisation and repulsion? feay & oA, El'EIITIEI fogoa o ((5; 1(\14110:
() B.R. Chauhan 2 M.s. Gore - : | - o7. Under
) C. Bougle (4) S.N. Dasgupta | ((3)) iﬁ.BﬂT;. ‘ @ vagw. M Act, 2
(5) Question not attempted b N ® gag AR
5) Gﬁﬁﬁa i

1. Which of the following is not 5 test for HIv? 91 ! i 57 ) o
i | * A e cmame (HIV) @1 2= % (1) On
E.I_JISA (2) Western Blot &? O
) Widg1 1y WS L (1) wferey (@ e i i

s ¢ il i @)
) Question MOt attempieq B fsre o () IR3g qu. o
22-® |

(5) Qu
22.®
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) a% _ | R
92. In ancient times, what was it called when a 92w W ¥ ufgR i geaECIRT @ S G4
woman was allowed to have sexual relations N @ o ufy & afaRa R A g
with a man other than her husband for the Siter ohe s Wiy 08 o i a1 @l
purpose of procreation in the family? Sat o G
(1) Tali sanskar {2) Kereva ¥ S s &)
(3) Incest (4) Niyog 3) Frmerfy () Fram
(5) Question not attempted (8) srRal weH
2 383 Who has suggested the following dimensions of 93 wfyaifmar @ ffarad S P —\@g}ﬂ
] T communalism - Assimilationist, Welfarist o B fram fear - , mrﬂ'lf‘asa u?I
Retreatist, Retaliatory, Separatist, Secessionist?ht;ﬁ gieuel), wfeheraTd), srermaardl, gﬂqﬁ
(1) G.R. Madan (2) T.K. Oommen (1) S8R, HaT @ a3,
(3) Ram Ahuja (4) Yogendra Singh (3) T STEST (@ v 48
(5) Question not attempted (5) areiRa wed '
94. Which of the following according to Yogendra 94 T fRig @ SruR fae :{@r g?tﬁl‘rfm Siifd
% Singh is not a cause of change in the Caste ayavert ¥ gRads @1 $RU _
RSt 1) st (@) TR
(1) Industrialization  (2) Urbanisation \(3) PR (8) SmgfAFTHRT
(3) Privatization (4) Modernization (5) SR W
(5) Question not attempted : : el
95. Wh?ch of the following is not one of the 95. fo # 9 Tﬁqﬁﬁ% 33 @
AT measures for eradicating poverty or at least gq;;ﬂ‘ﬂ’i
TRe reducing it significantly? 4 W st
I9ER (1) Distributive justice o m b e
. (2) Flow of black money 0 S W
r (3) Land-man ratio @ -
(4) Creating employment - ISR o |
(5) Question not attempted i ‘61:'[7:53 EWE. . o A" -
96. Among the following Views regarding the nature B WL e m‘cﬂ-‘\[ i ‘ia@m
BYEE of Public Administration which view ‘waz b AT o ﬁmﬁsqﬂq L e
Rerd - supported by  Pfiffner, FM. Marx and 50 é’g SRea
i 1 Whlte?c ew  (2) Managerial view () g gieem @ FaRIAR giRe®ITt
oI (1) POCCO 'v1e : al @
(3) Modern view (4) Integral view ! angﬁii Q‘lmeam‘iﬂi \EAE]
3R (5) Question not atte‘mpted £ (5) P:TﬁﬁTa P
i‘ 97. Under the provisions of Lokpal and Lokayukta iﬁ‘q[a Eilailgﬂﬂ?‘:iiﬂ Ri %T'_], ?m"ﬂ; Hﬁﬁ"[
‘ Act, 2013, how many members are feqﬂlfed n S, Eiiaiﬁﬂlﬁl fm%ﬁi ?[ gfe
the Selection Committee for appointment of 3 fpas G gl
 Lokpal? P (1 T et T T
SR (1) One Chairman and Two members (2) T SEaE T ilﬂ el
.‘, (2) One Chairman and Four members | 3) o o < a7 T
(3) One Chairman and Five members e g@ﬁ w & e
(8) One Chairman and Three members ) : &) & L
(5) Question not attempted bt SRR
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100. Who among the following is associated with the
‘Zone of Indifference’?
(1) Elton Mayo (2) Herbert Simon
(3) M.P. Follet (4) Chester Barnard
(5) Question not attempted

101. Who wrote the book “Public Administration in a
Time of Turbulence”?
(1) Frank Marini (2) Christopher Hood
(3) Osborne & Gaebler (4) D. Waldo
(5) Question not attempted

102. The Third Minnowbrook Conference was
organised in 2008 which had the theme — ‘Public
Administration of Future, Public Management of
Future & Public Services of Future’. Who
presided this conference? .

(1) Rosemary O’Leary (2) Vincent Ostrom

(3) L.D. White (4) William A.
Niskanen

(5) Question not attempted

103.Who is the originator of the idea of
Politics - Administration dichotomy? '

(1) Henri Fayol (2) Woodrow Wilson

(3) WF. Willoughby  (4) Mary Parker Follet

(3) Question not attempted

104, 5

P \CthiO among the following was appointed as first
5% ei rlgﬂ‘)mou Copmﬁssioner of India under
Tt Visions of Right to Information Act,
1) Wojahasn I 01 5w wy ()

@ o ﬁ‘ﬂ’?‘:; %P; Keiriwal

©) Question o Mﬁ?‘}% )

GET IT ON
Google Play

: [Ge JUTTH ;
an 9 ey & @ @il A A4 Py
: ma S

.+ of the following 18 = ‘th-w e T &7 105. Who was n
2 Wm:}iftinn of Human Relations Approacti: (1) JAFHRT ‘ Reforms €
pfr)oi;t;ti‘fﬂ“'f’“ (2 bR S (1) G.S. P:

((2} [ndi.\-'idua] difference . (3) aa—:-’rﬂ]ﬁ?l‘f BT SFATARS HTSs
(3) Informal organisation of employee 4) FHaRar a1 foreh fBa (3) K. Har
(4) Personal interest of employees . (5) eﬂ‘g’ﬂﬁﬁ g9q (5) Questi
(5) Question not attempted h oy D 99. §ed @ ‘@Fd HAER ‘{M’W Cal SPEG 1%106. HOW- rrlal
4 kriown ™ G5 thie. IO SRS HET ST 87 Administ
. ‘\::?nanl%ehavioﬂf Approach’ of organisation ,E'l:' 9 Cﬂﬂi Ppleic (2) Teed Ja (1) Fifteer
(1) Mary Parker Follet (2) Elton Mayo o r gt ) () Eight
(3) Herbert Simon (4) Chester Barnard (3) KilERA AR TS B ot

(5) Question not attempted (5) 3 Rd g

100. fp=ififiad & @ @I SEMINAT & gy 107-In how n

TR &7 totality o
(1) Tee HA1 (2) &4 T g’)z

4) TR TS
(3) Tadl. ®iele @) s

(5) SIF<IRT T . e
101. “afiers TSAPRERM 1 T TEH 31 e "0

“A deci

e behavio
g e fordl? )
(1) B =R (2) foheeTHY g8 ?1';&;“2“‘
(3) shgai g fger  (4) 1. drest S
(8) a1 kil (5) Ques

102 e fiege Bfshe o 2008 ¥ omARm g
foreT off — Wfaw &7 ol yoE, W

f the cc
WW@W?[WW'?@TW ?I)Mess
TH HHICl @1 SRer fbas @ off? Feed
) Il st (2) e st e
5 Med
O rasl @ge (@ R T e g o
() argaRa wee Fee:
103. oW foRa 3 o R-weeE g RARd ) Me
T e Fee
i (5) Qu
(1) 275 ware faoa=

, (3; %ﬂﬂ : L(:‘D—Q,@k}f 110. Which
- O S UE. e (@) 3 gk wree it

() SR e 1
104. S8 FA iy ¥ $ ( )Ha
ST o1 SRER e, 2005 S T O (2)
i Fifed 4 & g e @1 oW () .
p‘*‘lﬂﬂﬁ e far e @M
;Wﬁ’@m - @ 3. ol o
B ew R @) o, s ®) Q
(5) qd geq Lewirrdain . <

) 9 - 22_ @
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105. W ‘
Who was not the member of First Administrative
Reforms Commission of India?

(1) G.S. Pathak (2) Harish Chandra

Mathur
(3) K. Hanumanthaiah (4) V. Ramchandran
(5) Question not attempted
106. How many reports were submitted by First
Administrative Reforms Commission of India?
(1) Fifteen (2) Ten
(3) Eighteen (4) Twenty
(5) Question not attempted

107. In how many groups did Henri Fayol divide the
totality of activities of an industrial undertaking?
mo (2) 8
() @) 6
(5) Question not attempted

108. “A decision making is the selection of onéi: Fyofay AT 1 i
behaviour alternative from two or more possibl%ééi% e fawes &1 g7 S

alternatives”. This statement was given by -
(1) J.C. Glover (2) Lundberg .
(3) Herbert Simon (4) George R Terry
(5) Question not attempted

109. Which of the following is the correct sequence
of the communication process?

(1) Message, Sender, Receiver, Medium,
Feedback

(2) Sender, Message, Receiver, Feedback,
Medium .

(3) Sender, Message, Medium, Receiver,
Feedback

(4) Message, Medium, Sender, Receiver,
Feedback

(5) Quest:on not attempted

110. Which of the following is not a principle of
scientific management? :
(1) Harmony rather than discord
(2) Individualism rather than cooperation .
(3) Use of Science rather than Rule of Thumb
(4) Maximum production rather than limited

production

(5) Question not attempted

',110-ﬁﬂ%@ﬁﬁéﬁﬂwﬁaﬁ$w.mm
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105. 3 e 5 orm e ST e

qa A8l a1

(1) Shiuw. ures @ &7 T e

@b epem @8 T

(5) o u E
106-W¢qaqumﬁ?ﬁﬁ““mﬁ

yferdes v fad o

(1) u=iE (o)t

(3) 3rgE A

(5) argeIRa T

S B ET

(19 28
35 4) 6

fapaa] B &7
(1) Sr=A. TelaR 2) gosatt
(@) =4 wgF @ wiff s <
(5) argRIRaT U
109, Freforaa & & RSO weAr BT WEl A

(3) FHISH, HaY, AT, e, wfatbar
\g‘dﬁay I, RS, T, Fcfsha

(5) STRIRT W

TE 27
(1) g & W R E
' (2) HEHIRAT. @ @ W A
(@S & Fm B e ) RS o S
(4) WfAe Seured & I T SABDTH SIS

(8) argrifRa W
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411. What do you mean by ‘Unity of command’?
(1) Subordinate will receive orders from only

one boss.

(2) Boss can give only one order.

(3) Boss can give orders to only one subordinate.
(4) Subordinate will receive only one order.

(5) Question not attempted

112. Which of the following is not correct regarding
Lokpal and Lokayukta Act, 20137

(1) Former Prime Minister is in its Jurisdiction.

(1t will complete the investigation in
6 months.

(3) It will consist of Chairman & § members.
(4) 5 of these will be Judicial members.
(5) Question not attempted

113. Which Report of the Second Administrative

Reforms ~ Commission is  named as

‘Ethics in Governance’? A LS
(1) Second Report (2) Fourth Report
(3) Seventh Report (4) Tenth Report
(5) Question not attempted

J Y T TR -
Gl 1 BT SR 46,807

1. ‘g @ gl

! (1)1“55

< ke gisa
(2)Uﬁmﬁmwmém% i

arefRey @ it1s 2
(3)aﬁ1ﬂglﬂ CEEIL T g, s
hikaul argll]
(4)Waﬁmwﬁmmm .
(5) argaRel 9% - o
112. m@aﬁaﬂzjﬁaﬁlﬁm 2013$W 117 I“Wm_
Pt 4 9 YT GE T &7 ddei
() g g SAEPR H E (1) Ch
@) 7 67 # i W D oW
(3) 5ot U A ol 8 WEH B (3)12:
@Y 5@3% L ea:@
\ (ﬂ(ﬂaﬁﬁﬁ g g : : f ST

114. Which notion is expressed in the Nasadlya-Sukta Mo

11

of the Rig-Veda?
(1) Atheism (2) Panthclsm

S '5__1 -

(3) Theism " (4) Monism M .

(5) Question not attempted

5. This is the correct mterpretauon of Normat/we
Utilitarianism - -Jilc
(1) In this besides happiness, knowl_‘ dge, truth,

virtue are also self-achlcvable aus
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¥ i i
" «cratic Method is ¢ '
i’ﬁ‘} 116. Soct $ called Dialecticaj because -

\ by \ [ W f[ IN o ij et e % YEl @1 g @el S ©
w1 (2) itis a method of sclf—know]edge_ Hife —
Q‘?T%] : @) itis a method of Question ang Answer, M 78 v o o qgfy 2
mﬁ B ) it is a method of argument and Counter- \/:zi'ag UP 3McH—31+ &5 ugfa 2|
Sy, argument 9% 57 o v o i 2
(§) Question not attempted T8 T 3R UR—aas &) a=fy 2

3 : . : & (5) arqeRa o
B w | .10 which philosophy, it is preacheg to renounce  117. & i : — R
y Jl worldly pleasures and lead a life of austerity & i & forv wwea wialRe gdi &1 T

| l jnd detachment in order to attain salvation? TS TR e q Al g BT SUSH
(1) Charvaka philosophy w0 et % fRar mar 27
| / (2) Jain philosophy (1) =rais ?{Q’h
w'. (@) Buddhist philosophy (2) 51 o
| () Gandhian philosophy \@’iﬁ?&' G|
| (5) Question not attempted (4) ity g3
(5) ergaiRa e

v f : s
% 118.0f what quality or vow “Mithyopadesha” is a = 118. 3 <ofq @ AR “Meges” f&e o1 ar ad

gansgression (atichara) according to Jainism?

BT St B2
= : (1) Achaurya (2) Samyak-darshana 5 -
= (Non-stealing) | (1) 3 (2) FRIEEH
¥ (3) Ahimsa (4) Satya (Truth) i P (3) arfEar \(ya
. (Non-Violence) e & 108
IR (5) Question not attempted g = 3

119. Which of the following statements about the 119- 35 & Ir # /= # § FIFEl du I

Vedas is False? &

(1) Yajurveda has discourses on rituals. ) -ade § pHeve el @ 2

(2) Vedas are non-human. (29T 3oy # |
Pt () The Vedas are full of knowledge of (3) 3} & PDact orclifdd [yl BT T W ]
T A supernatural subjects only. \@W Haife o 2 |

(4) Rigveda is the most ancient.

_ (5) IR we
(3) Question not attempted SR
7T 120. Degcartes’ Philosophical Method for attaining 10, I @Eﬁ' e SRS mﬂqﬁ:ﬁ;ﬂj
@ 2 certain and undisputed knowledge of Soul, God A o< P P e Sre.
& and World is - e : 2) EETHD
c ) Sceptical - (2) Dialectical SR <‘f_;'i§ :4: STHETI
@) Intuitive (4) Transcendental (3) 3k =P

©) Question not attempted - (5) 3reIRa ¥

9 :
2 @ Page 25 of 32
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411. What do you mean by ‘Unity of command’?

(1) Subordinate will receive orders from only
one boss.
(2) Boss can give only one order.
(3) Boss can give orders to only one subordinate.
(4) Subordinate will receive only one order.

{5) Question not attempted

112. Which of the following is not correct regarding
Lokpal and Lokayukta Act, 20132
(1) Former Prime Minister is in its J urisdiction.
(2) It the
6 months.

will complete investigation in
(3) It will consist of Chairman & 8 members,
(4) 5 of these will be Judicial members.
(5) Question not attempted

113. Which Report of the Second Administrative

Reforms Commission is named as

(5) Question not attempted

GET IT ON
Google Play

11. ‘gl Eﬁ 21 ST "
Had TP I 116- 5
W & (1) it 1s

‘ %meéwﬂ% ik

& IEfTRT FT gp @) it is

| |

&) 3MeT g By arg

() ST ] dad TP | .

o = ; 7- In whi
- FffTd, 2013 & vy, 117-In

112. Geparel g arbrgad { :

o 3 e @ T E =
NU%CRELE g SRIPR H F () Ch
@) g 6 FE & S T ST ) Jai
(@) T ve A a8 HEwd & | (3) Bt
(@) 57 9 5 =i wew i | @) G:
(5) argeRa o (5) Qi

3. iy yoeifae GuR SRFT & Y 9fe 118. Of w

) : BT TH A F AfdHar 27 trans;

‘Ethics in Governance’? A fard 1) A

(1) Second Report (2) Fourth Report o W. e (2)'?\}911. ' ¥ (®

(3) Seventh Report (4) Tenth Report L Rl L () 3wl wfae @) A

(5) Question not attempted QRSB a

114 Which notion is expressed in the Nasadiya-Sikta 114 ERC: W_M ﬁﬂ:ﬂﬂ R aiffars (8) Q

of the Rig-Veda? : = P g3 87 ' i g, 119, Whi

(1) Atheism (2) Pantheism (o arfreawarg .&% wﬁ‘mﬁ Ve (;

(3) Theism (4) Monism (3)- gvare =S e

(5) Question not attempted (5) Q]:J‘ﬁﬁﬁ s ‘:M L .;l , i

115. This is the correct interpretation of Normative ~115- AqAeTd STAIATETE ) < ‘ rit @) T

Utilitarianism - L () $1 8 & SRiRa gy % R st

(1) In this besides happiness, knowledge, truth, WA P E i BT @R

virtue are also self-achievable al._lspicious (2) 39 W B g E"I - b 5) Q

(2) In this one’s own happiness is the only ideal ST Bl oot L Rl S 120. Desc:

for human actions () zwi sifRrpTH Af? e

(3) In this maximum happiness of maximum arest & and ¥

- people is the ideal (4) ST URY HT G A (1) Se

(4) In this happiness of others is the only ideal aes & i (3) Ini
for human actions :

(5) 3igaRa ue

2-&
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§16. So¢ catic Me

tl
10d is called Dialectical because
(1) it is a method of eaching

(@) itis a method of self~kn0wledge
@ itisa method of Question and Answer

(@ it is a method of argument and counter-
argumeﬂt.

(5) Question not attempted
447.In which philosophy, it is preached to renounce
all worldly pleasures and lead a life of austerity
and detachment in order to attain salvation?
(1) Charvaka philosophy
(2) Jain philosophy
(3) Buddhist philosophy
(4) Gandhian philosophy

(5) Question not attempted

118.Of what quality or vow “Mithyopadesha” is a
{ransgression (atiéhéra) according to Jainism?
(1) Achaurya (2) Samyak-darshana
(Non-stealing)

(3) Ahimsa
(Non«VioIence)

(6) Question not attempted

(4) Satya (Truth)

119.Which of the following statements about the
Vedas is False?

(1) Yajurveda has discourses on rituals.

(2) Vedas are non-human.
(3) The Vedas are full of

supernatural subjects only.

knowledge of

(4) Rigveda is the most ancient.
(8) Question not attempted

120. Descartes’ Philosophical Method for attaining
certain and undisputed knowledge of Soul, God

and World is -
(1) Sceptical (2) Dialectical
) Intuitive

(4) Transcendental
() Question not attempted

2.0
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Google Play
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6. GnRe gl w1 gEET T
e Lo :
(1) 78 ue foen & gE €|
(2 E T g @) T S
3) 7E v sl weR # vEh E
(4) 7 0o v i ) GRS
(5) sraRa we
117??[&191&3%%1@%%@5@@

gcri‘ﬂ

F¥d DoN aued d Rl o 1

e gt 3 e &7

(1) =mat®d g9+

(2) I <e

\@B)ydrg o

(4) Tifelt ggiA

(5) rgaIRa ue
113.@:[@@@1?"@@;@"me%

PT IJeoled 87

) amd (2) e

(8) st N

(5) I<IRT U
19. 351 & 4R ¥ P # @ @ HAT A

&

(e # Fiers e w9 R

L (2)-3€ JrieNd € |

(3) a} & daw Srclfh fwal A AR P

@,Wﬂﬂﬁ%tﬂiﬁﬁ%l

(5) FTIRG W
120@@\?3}*{?%@@?{3@?%

gmmﬂaﬂﬁﬁgﬁqméﬂ%ﬂﬁﬁiﬁﬁﬁ:
g -
() <o <rE (@) FEe



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ishads ere
the U[}ﬂlllshddb. the

s of the soul -
Vaikrit Avastha,

121-Accnrdin;_“ r?
fhﬂowing fout .
(1) Jagrat A\'ast_Im.A e

Avastha, Turiya AVas |
Avastha, Swapna
iya Avastha
) Vaikrit Avastha, Swapna

s Swapna
Avastha, Sushupti

(2) Jagral
Avastha, Tur

3 Bhootadi A\-'asth;?. "
Avastha, Sushupti Avastha

(4) Vaikit Avastha, Swapna Avastha,
Avastha, Turiya Avastha
(5) Question not attempted
122. Which Theory of punishment does depend upon

the concept of Self-Determinism?
(1) Only Retributive Theory

(2) Only Reformative Theory
(3) Both Retributive Theory and Deterrent The

Sushupti

(5) Question not attempted

123. According to Kant, which one of the following is
not included in the essential postulates of
morality?

(1) Freedom of will
(2) The ability to perform actions
(3) Immortality of the soul
(4) The existence of God
(3) Question not attempted
124 Which is not a Vedanga?
(1) Chhanda (2) Ganita
(3) Kalpa (4) Shiksha
(3) Question not attempted

125. p.;
Point out the correct option from below
Tegarding the relation of means and end with

are

(4) Only Deterrent Theory : fﬂ
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() dp e, W AT G g,
SRICER ,

(5) 3rgiRT 9

122. gug Wmmm;ﬁw?
RO TR SR 87 = .
(1)meﬁrﬁ?f
\J;’/WWW
(&WWWWM

ﬁ d

(4) Baa wleRETHS Rigr
(5) SR we

123, 71 B SR, - o
Nl e T 22
(U?-‘ia#qqﬁw” T e
(2) BH DR BT &HAT
(3)311@1_'9%%
(5) SIART T

124 i i = 27
(1)9-—"{" :
il @ fem

1251ﬁ‘éﬁ$;ﬁﬁ'gmﬁmm
Wﬁm_mm%mﬁaﬂ?mﬁ

Tespect to non-violence, Truth and God in the Fr=ferRag § 9 fadcd TSy 5
Ethics of Gandhi — : ke aﬂ%mﬁ 3 ﬂﬁ_‘\‘;—ﬂ?‘% ﬁ
Non-Violen Truth od ' el i

(1) means | means %TE (S e, o= (R~

2) means end end (@) e ST T

8; s peane | sl @) W bl

N L TR (8 T 00 1) T

3 a9 e a4

®3) 1 @) 2 @1 @2

(5) Question not attempted (5) argafRd w3 e

22-@ ; Page260f32 '
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w which Bap nent is false jp
l;tililar*.am.‘;m'}‘

the Context of Mil’g

(1) Along with quantitatiye
qualitative difference in

(2) Happiness is the basic

difference, there ig
happinegs. ‘
Purpose of 4 humap

desires.
(3 There is only quantitatiye diff
happiness. i 10
(#) The auspiciousness of an ;
determined by the happj S
Ppine i
: 5 S8 resulting from
H (5) Question not attempted
. Neti-Neti” is  used in the context of

‘Nirguna Brahman’, which indicateg that -

(A) this 1s a negation of the qualities related to
Brahman

(B) this is the realization of the indescribability
of Brahman :

(C) thisis a Saguna explanation of the hature of
Brahman :

(D) its culmination is silence
Select the correct option -
(1) A, B and C are correct
(2) A and B are correct
(3) A, B and D are correct
(4) B and C are correct
(5) Question not attempted
18.The peaceful attitude induced by the
conternplation of art is the best illustration of -
(1) Anandamaya-Kosha (2) Pranamaya-Kosha
(3) Vijnanamaya-Kosha (4) Manomaya-Kosha
(5) Question not attempted
. What is the meaning of “Samyak Vyayama”
according to Buddhist ethics?
(1) Concentration of mind
() Efforts for the creation of auspiciousness
prevention of evil
®) Just livelihood ' _

 Determination to follow the path of truth

‘ 2.9
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) Question not attempted
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o 130. forspTH oy '3
cticing
onsequence of pra e

What is the primary ¢ ‘ ‘\U
it Nistkars Karmna! (1) greifore gfaeST 2 Wﬁ;

(1) Social prestige (2) Success [ o

animi -i vemen : gHed 11d 4 H YR
(3) Equanimity (4) Self-impro i

(5) Question not attempted A

131. According to National Curriculum FramBWO{‘al,
2005, which subjects comprise under Soci (521 fa)i 2681
Science at secondary stage? :

(1) History, Geography, Socmlogy, Pohtlcal (1) ARG - 3 et i | fa?rm

Science, Economics 3 _
(2) History, Geography, Political s_ciencq, (2) gfrera, s, oI s, n#rfam
Psychology, Economics - W

(3) History, Geography, Civics, Economlcs,:
Human Science i

(4) History, Geography, Political Science
Economics - P

(3)gﬁgm1fﬂ?:rmﬂﬁ$mﬁs;%

() Question not attempted =~~~
32. “The unit is an organised body of mfo

and experience designed to effect

outcomes of the leamcrs”  Who
deﬁml:lon" '

(1) Goodl
(3) Herbert
(5) Question not :

133.
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A pich one of the foligy,; .
3V rbartian five g 1S co
of Het € ste t . :
(@ preparation P @Pproach of 1ess?:r? U?nce 138, qrg Iﬁ?l‘rn SarTd #
) Presentation Plan? B FEE B EEREiL]
) Application tt SR ¥ ¥ @i @@ 9 87
Evaluation (by e
; ; Generalization %
:; 0 Association ((;J)/ 3 ;
(Choose the correct code - (€)~ Trrreor
% (1) b, & z,f @ a,b,c q ¢ (), e
- Pl @ a1 W e w1 e AR -
(5) Question not attempted X Mb,c def (@ra.b,¢, d.f
I, gl @abecde @) a,b.f,e,C
(36.In relation to type of queStiol 4 (5) aﬁﬂﬁ—q’ g
; i NS, which of :
= following pair is not correct? of the 136, w5 e @ wieer ¥, Feretferfiat F & FITA
i (1) True/False - Recognition Y e T 27
() Matching - Recall (1) e / orered — weafive
(3) Blank completion - Recall (2) fores — yeareRY
(4) Multiple choice - Recognition ) (3) Rt ofef — gearemy
TR (5) Question not attempted ' ﬂw SANENR
< Tﬂ'mli_Ch Of_ the foll?wing '1§ not a component of 137, RrerferRad # & S A AT B THIS
ST social Science Unit Planning? Do B UF e T 87 =
(f) Determination of instructional objectives Lg)fa]aﬁ'gm‘ﬁq?i 2] 'EEI' =T
(2) Formulation of introductory questions () Wm;;rz?fr 1 FEoL
(3) Decision about teaching materials (3) R wrf Heel i
(4) Division of sub-units (4) Su—gHrEal B fared
3 (5) Question not attempted | . (5) 3T W
8.1y Social Science -teaching, globes which are 138. o Rrem R 8, S TEE $ad Ade
o3 used only with surface areawise S flines are, || SEER SRS @ WY SWm § @1 W 8
known as - PEC & —
() Political globe (@) Celestial globe () wotfe wete m@"ﬁ m“qw
(3) Physical globe (4) Slate globe ) IRk Wz::{ 8
() Question not attempted (5) 3rgeIRd
: Ry TE @ W i Prfaiiad # W @3
".Which of the following is correct regarding tho i 9 wel B A i
?ssa_}_’ type questions? w ﬁl’ﬂﬂ aﬁaﬁﬁ & AT
T (2) Opportunity to thought expression © Wﬁ § TSl
(_b_) Objectivity in evaluation © SEe S B S UE
(9) Evaluation of writing skills @ el fie AT
(_d) Evaluation of critical thinking &) @ B qq Hifee —
(1) se the correct code - : () (a), (b) @ (©) . (2) (b) Q"-T- (d)
k (@), (b) & (c) () (b) & (@ | VAT e RS
i (@), (¢) & (d) @ (b) & (©) (6) orpeRa . ik

& Q:‘}estiorl not attempted
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146- >
ol 140. is
is based on which philosophic? &7 \(ZF ST | g e
140. project Method is base (1) anaiara (4) Frorrefare @
il 2) Progmatism b &
f:)) W AL (8) Sy % 9 P OB Gl ( ‘
(5) Question not attempted iial 141. ﬁmﬁ’{ﬁ‘]ﬁ 8 27 147- i_:
ich one of the following is not a tech Ff‘cﬁﬂ?ﬁf \B)’ﬁam
" *‘?l?rl‘:c]rcristic of a good test? i (1) derar (@) frvafesar e‘l
(L” Validity (2 Dis<‘:|'in?||Tm1ve (3) frgaiaer ?1
(3) Reliability (4) Subjectivity (5) @<k H¥ AT & W s P
(5) Question not attempted _ ' 142, wrfors RS © oar 3 Wﬁ}ﬁ :
142. Social Science is a subject which deals with — 8 _ :
a) Man a)qT:rcri‘? 5 ;
((b) Man and his relation with other men Eb) HHE[QET 3 AAl & :TQI D Hayf 148';
(¢) Man and his environment (c) HIFI9 T4 SHdH YIIaRor )
Choose the correct code - el BE BT T DIfTg — : X
(1) Only (a) and b) (2 (a), (b) and () (1) B9 (a) T (b)  ((2) (a), (b) TF (§) :
(3) Only (b) (4) Only (a) and (c) (3) Daet (b) (4) B (a) vd (c) (‘
(5) Question not attempted ) FgARa go (
143. Formal and Informal Group Plans are the forms  143. 3ﬁﬂﬂlﬁiﬁ Uq W (@) ?'ﬁ;:ﬂ (
of which teaching method of Socia] Science? IS s @ &8 R fafy 3wy : A
(1) Socialized (2) Project (1) FHrSfigg A=ty (2) Hiorge (@rgisT) ,
Recitation e - ] O TR W (@) mRaes wiae -
(3) Problem Solving  (4) Brain Storming @ - _W | :
(5) Question not attempted : RS : e (
194. Drawing and locating a country on 5 map is  144. AR R Qg Bl RIRT v sifdg e (
associated with which ope of the following | FifeRag ¥ 9 fog IR J TRy &2 44
objective? : ) ] @) . \
(1) Recognition (2) Comprehensive . @) o g )i :
(3) Skill- (4) Organization { :
(5) Question not attempted (3) ST wemy (
145. In Social Science teaching, the correlation of 145, IR fas e W, UTeIae] By rererat ((
content with other subjects of curriculym P 3 Ryt @ WA BT Do B :
;ﬁued : 1 (1) spTey E—wrmer ’ (5
Cross Correlation
() Parajje] Correlation \(IRTAR TE—ewaer
(3) Vertica] Correlation (3) T e BNl
(4) Horizonta Correlation i1 8 (4) @]ﬂ';mﬂ-g e (A
(5) Question not attempted ' 4

A
; (6) SrgifRe wes ., O
22-0 | \

Page300f32


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda=iy

1

g?

ccording to Edgar Dale, whi
% ::L the highest leve] ¢ ‘C:l ?ﬁthe fOIlowmg 148 :
éxpﬁdeuces? Ndlirect abstract IR e % e, fe o | P STHTE
) visual symbol (2) Field r; S AT BT TeaaH &R B?
) Exhibition @) Verb;ﬂnp ) g9 wiog \ (D). &7 T
(5) Question not attempteq ol @) yasfh (4) grifeaen S
7. pccording to Bloom Taxgnem, . 1 TRy
f0|1gwing s Of.queStiO“S are not suimhle“:E 0 S eath @ ST, frferf % 9 i
evaluate the achievement f COﬂlprehensioo WO b W e A B rdl i B
objective under cognitive domain g T B it g wum TE 2 i
(1) Classification questions (1) aeffepor yus A @
(2) Tlustration questions (2) geeie e A\ 7 2
(3) Explanatory questions R et .
(4) Recognition questions (8) vreafieT ye
(5) Question not attempted (5) argaiRa o
8. Which of the following is not a principle of 148. frmfRay # W @wer wwif® fasmt &1
curriculum of Social Science? qm?}ﬁ &1 T Rigia T %?
(1) Totality of experience \11,)317_?@ 1 gl
(2) Activity (2) wrfrfafd
(3) Relationship with community (3) FHETY. W FRE
() Similarity | @ L i
(5) Question not attempted . e\ G
ol 149. g7y SIS HEAD ;
8. Under visual instructional support material, o P R A § e
hich type of map is not included in cultural qﬁ”a”gﬂ FL
whic e
(1) Political @ E°°“°“_“al o) Ly W T _
(3) Population (4) Geologic (5) aEiRa U
: d e weF e e
(5) Question not attempte 150, pyeAferaa § @ ; .
. statement does 1ot e f -t B AL
150. Which of the following S :on in Social fareor # HEHIH 5
indicate the importance of correlatlo 8) et T ST B S _%‘
Science teaching? & oo T aY FRETE
d. \_(g)‘ T':«’TF-{.. : ‘E 2 g >
jer to understan : T e XAl E |
(1) Facts become €asie ¢ knowledge: &2 T2 ST

(2) Realization of the segregation ; 1 £ L et 51
) Provides practical application of knowledge: ) qrerl N

(4) Reduces the burden of curriculum-

(8) Question not attempted
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